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» Itisthe average of +  Itisthe middie Valus
the data «  Arrange the data in

increasing order and find
*  Add all the Values and the m!;ddle value.

divide it by the total +  If there are two values
number of values find the average.

MODE RANGE

It is the maost frequent Value It is the difference between lowest
and the highest value.
Arrange the data in increasing
order.
A data can have maore than ane Subtract the highest and the
mode lowest value,

/ﬁ'nat is Mean, Median, Mode and Range

"ﬁnw to Calculate Mean, Median, Mode and Range

Find the value that repaat T
maximum times.

_AMean, Mode and Median from the Frequency Table
_Mean, Mode and Median from the Grouped Data

TK ({

parison of the Data

Problems
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-Vean, Median and Mode are the different types of averages. Mean is the better of all averages as it
uses the whole data. It is the best way

to analyse a group of data.

- Share Knowledge

Mean, Median and Mode are used for Data Comparisons.

But, the mean is affected by outliers. So
flean, Median and Mode are also known as' if a data have values closer to each

'MEASURES OF CENTRALFENDENCY" other mean is the best and if it has
outliers then mode and median are the
best for comparison

ange is the measure of the spread of the data

How to Calculate mean? The marks score by John in a test are :-
20, 25,30, 35, 20, 20, 35,40,41.
L/a‘}'ﬁad up all the values

Mean:_ 204+25+30+35+20+20+35+40+41
O

b) Divide the sum obtained ; ‘ |

in the first step with the 1
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tart striking

It is the middle value of the data

To Calculate kaean :-

a) Arrange the data in the increasing order.

b) Find the middle number.
e—

c) If there are two middle numbers then take the
average

Mot affected by
outliers but

it does not use
all the data points

end. If you are

take the average.

Q1 The marks score by John in a test are :-
20, 25,30, 35, 20, 20, 35,40,41.

Find median

R
3D

Way 1:
Way 2

Q2 The marks scored by David in a test are :
TO5,15.15,20,2024, 25
Median Way 1

Median Way 2:
RS- P > 2
M F
L =

JST’}D =J35_ |J.%

1D _
- B

umber from each

left with one number
then it is a median,
if two numbers then
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WAY 2

Find n=number of
data sets

If whole number than
that data will be median
decimal than take average
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P
e

‘ It is the middle value of the data

Not affected by
outliers but

it does not use
all the data points

end. If

To Calculate nwean :-

tart striking
umber from each

left with one number
then it is a median,

if two numbers the
take the average.

1 Share Knowledge

you are

WAY 2

a) Arrange the data in the increasing order. 20, 25.30, 35, 20, 20, 35,40,41.
Find median

Arrange data in increasing order=
20,20,20,25,30,35,35,40,41

b) Find the middle number.

c) If there are two middle numbers then take the
average

Way2 Q41 - 5™ guuuber

Q1 The marks score by John in a test are :-

way 1: 20,20,20,25,80§35,35,40,41

Find n=number of
data sets

Find YL+|
r .

If whole number than

decimal than take average

Q2 The marks scored by David in a test are :
10,15,15,15,20,22,24 715

Median Way 1 _
ﬂ 4_,5[]54/10):.|1-b
2= 2

2

Median Way 2: ?{_ l

————

2z
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MODE ‘

It is the most frequent Value

Find the value that repeats itself maximum times.

A data can have more than one mode

- Share Knowledge

L]

marks score hy-dohn in a test are :-
@D 25,30, 35{ 25,4(],41. Find the mode

Mode= 20 (Most Common)

e

Not affected by
outliers but

it does not use
all the data points

\

10,15,15,15,20,22,24

Mode:

Q2 The marks scored by David in a test are :

-
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It is the most frequent Value

The marks score by John in a test are :-
20, 25,30, 35, 20, 20, 35,40,41. Find the mode

Find the value that repeats itself maximum times. Mode= 20 (Most Common)

A data can have more than one mode

Q2 The marks scored by David in a test are :
10,15,15,15,20,22,24

| Ve 15

e

Not affected by
outliers but

it does not use
all the data points
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RANGE

e difference between the lowest and the
ighest value.

Arrange the data in increasing order.

Subtract the highest and the lowest value.

It is highly affected
by outliers

- Share Knowledge

marks score by John |
20,125.30, 35, 20, ED 35,4

st are :-
'lw Find the range

Range = 41-20 = 21 (Highest value-lowest value)

_—
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GCSE MATHS

MEAN, MEDIAN, MODE

AND RANGE
EXPERT-GUIDANCE BY MAHIMA LAROYIA

EAN |MEDIAN

Itis the EWEI'EgE of . It is the middle Value
the data . Arrange the data in

increasing order and find
. Add all the Values and the mgiddle B
divide it by the total .

If there are two values
number of values find the average.

ANGE

It is the difference between lowest
and the highest value.
Arrange the data in increasing

L

It is the most frequent Val

Find the value that repeat itself
maximum times.

order.
A data can have more than one Subtract the highest and the
mode lowest value.

—

The marks score by John in a test are :-
20, 25,30, 35, 20, 20, 35,40,41. Find mean,

median, mode and range

e

Share Knowledge
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GCSE MATHS The marks score by John in a test are :-
20, 25,30, 35, 20, 20, 35,40,41. Find mean,
MEAN, MEDIAN, MODE median, mode and range

AND RANGE
EXPERT GUIDANCE BY MAHIMA LAROYIA Mean= 20+25+30+35+20+20+35+40+41/9

=2955 "
- IMtis.EtheAauengE of M .F t.E,mEEﬁ,EN _— Arrgaq;zqe data in increasing order=
the data . Arrange the data in [ EQI y ,35{3@11{]}%1)/

increasing order and find MEdian= 30. (middle "#’&|U

. Add all the Values and

dviekimaermi | 5 Sao Range = 41-20 = 21 (Highest value-lowest value)
number of values find the average. M[}de: 20 (MOS‘[ Common)

RANGE

It is the difference between lowest
and the highest value.
Arrange the data in increasing

MODE

It is the most frequent Value

Find the value that repeat itself
maximum times.

order.
A data can have more than one Subtract the highest and the
mode lowest value.
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This is the data of the number of
pens a student has in a class.

MEAN, MEDIAN, MODE AND RANGE
FROM THE FREQENCY TABLE

Number of Pens

Frequency
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Mean= Find the sum
of number Xfrequency/

.'\.
No aneﬂ )[I\
1

total of frequency

Mode= the value with

highest frequency

Median= Find

h+1/2.Do cumulative

Share Knowledge
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This is the data of the number of

pens a student has in a class.

MEAN, MEDIAN, MODE AND RANGE

FROM THE FREQENCY TABLE

Number of Pens

Frequency
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Mean= Find the sum
of number Xfrequency/
total of frequency

Mode= the value with
highest frequency

Median= Find
n+1/2.Do cumulative
equency

No of Fen( b| I) Fregilrly A, { C. F
1 10 .,/Hj E
2 2 |24 j’)_?_
3 5 k45 3
40 31D
K,sc; o4
120 | +4
7 10 "-"""% %q-

Share Knowledge
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MEAN, MEDIAN, MODE AND RANGE
FROM THE GROUPED DATA

The weight of 80 people are measured below

mean: Work out the

idpoint of the range and find

i Freauenc the product of midpoint and frequency
WEIght HEIF'IQE equency for each class and find the sum.
04 ALLKID 5
- Divide the sum by total frequency to
lo & 1.4720 10 find the mean.
20 & D
< 2 [\ 3 15 Mode is the class with the highest frequency
30 £ 2440 20
For median finﬂ n+1/2 and find
30 the interval which contains that value

40L& 1< 5o

\//

L
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The weight of 80 people are measured below
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MEAN, MEDIAN, MODE AND RANGE
FROM THE GROUPED DATA

Weight Flange{ Frequency Midpoint Vidpolnt X frequency
QA<D w‘i5 1040/2. = 5 25
lo& 2.420 ) 104202, =15 | 150 |~
0 & 243D —
_Lfﬂ £ 1L40 35 700
4'5-5 2 < 50 L T350 Y

Share Knowledge
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The score of two students are given below:-

\_—Stident A: 25, 25,30,35,40
(-/s.wdent B: 30,30,37,38,40 A

Who performed better ?

Mean Median | Mode | Range
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The score of two students are given below:-

Student A: 25, 25,30,35,40

Mean Median | Mode | Range

Student B: 30,30,37,38,40 A LA "L o 154~
st ;
5 B ( 35 37 “\m\ 10
Who performed better * / P

Z__ \/ -

] Z

V \/
So if we compare the mean,median and mode
than B scores are the highest.

Also, the range of B is less which means

www.expertguidance.co.uk
B results are less spread.
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Q1 These are the set of 5 numbers

Median is 7
Range is 12

Mode is 3
Mean is 8.

Work out the set of numbers

| WORD PROBLEMS | - Share Knowledge

Q2 The mean of 6 number is 10
The mean of first two numbers is 8.

[ Find the mean of next four numbers.
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Q1 These are the set of 5 numbers

> U DCE

Median is 7_
Range is 12 ——

Mode is 3~
— Mean |s___j
Work out the set of numbers

- ﬁ},

N5 - L0
it_J—[’HSJrfi—ﬂL(S)

| WORD PROBLEMS | - Share Knowledge

Q2 The mean of 6 number is 10
The mean of first two numbers is 8.
Find the mean of next four numbetk

J OO 1]

L ﬁum £o (1DX6) |

\& QB—HL
(55 D -
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NEXT STEP
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